Примеры к заданию «Конфета»

	1 уровень сложности
	2 уровень сложности
	3 уровень сложности
	4 уровень сложности

	19-10
10-1
11+1
16-10
18-4
10-4
	17-8

15-6

12-6

15-9

8+4

6+6
	6+7-4

7+7-5

5+7-6

8+7-9

15-12+9

13-6+5
	3х3

18:2

12:2

3х2

6х2

3х4
	6х3-9

16:2+1

3х4:2

9:3х2

16:4х3

12:2+6
	55+16-62
25+47-60
63-(38+19)
49-14-26
44-17-15
71-16-49
	62-8х7
8х5-32
7х7-37
(25+29):6
27-3х5
4х6-15


Шаблон «Конфета»
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Ключи к заданию «Конфета»

	1 уровень сложности
	2 уровень сложности
	3 уровень сложности
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